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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - I « EXAMINATION — SUMMER 2015

Subject Code: 3335801 Date: 02- 05- 2015
Subject Name: Mechanical Engineering for Printing
Time:02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. gaiell QSQQL Alcloll wallol L. 14
Enlist name of physical properties.

elllds oatunloll augl .

Enlist name of Thermal properties.

Gulla oatulell A€l .

Draw the sketch of open belt drive with nomenclatures.
ol REUt WA A Uat Ace gleSalall gl €.
Enlist types of cores.

S0t YsAo{l L€l 2,

Enlist types of gear train.

a2 Sotoll YslAoll ALE] 2L

Classified the air compressor according number of stages.
Rell AUUR AR SLYAR ad((s0L 3.

Convert 60 r.p.s. into r.p.m.

Give two differences between hot working and cold working process.

gle al$oL YRAU Aal sles alSot YNRAM A 5lE5 URL 2 dsleld AUl
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Give any two applications of air compressor.
AR QAR S1¢5 ULl 2 Ul .
Enlist types of followers...
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Enlist types of cam. 03
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OR
Give three advantages and three disadvantages of rope drive.

AU Slefclall 2Rl $lAEL ol 2ARL ARFLAEL AW
Define (1) Porosity (2) Elasticity (3) strength
cqluel AU (1) Slalgcl () Sl (3) wunda

OR
Define (1) slip (2) speed ratio (3) power transmission

clluAL AL (1) U (2) adls Q=D (3) alsal duRal

Draw the displacement diagram of uniform velocity with proper
nomenclature.

VAN AL HZ oltH @AEUt A SlR@QuHR stAUH ERL

OR
Draw the displacement diagram of simple harmonic motion with proper
nomenclature

Abud slllAls ol 1R ottt (At WA SlAUNe stAUH ERL
Enlist types of pattern material and explain any three in detail.

Qeol HAl3ladell ael 2udl sluel 3 Axestal.

OR
Enlist types of gear train and explain compound gear train.

a2 eetotl YsiAoll el Ul s1UBos oA 5ot UH LA

Draw the neat sketch of Vernier caliper.
ollH (AZUt WA clo(laR AUl 2usdl 2.

OR
Draw the neat sketch of micrometer.

ollH [(AZUt WA HeSsIHl2Re{l pusdl €12l
Enlist types pf pattern allowances
el geoll YsAo{l atel 2.

OR
Enlist various forms of threads.

5ol 3WeAl atel MW
Define (1) Ductility (2) specific heat (3) fasteners (4) Brittleness

vl AL (1) decll (2) @R GwL (3)oius) (¥) MRSl
OR

Explain temporary fasteners.

gourl oiusl <l Axesal.
Explain procedure of pattern making.

Yeolofl elollae Uslal dHostal,
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OR
Give classification of Drilling Machine.

Slcllot Hallotoy crolseL Ml

Enlist types of patterns
eololl YsAoll L€l 2.

OR
Draw the schematic lay out of lathe machine.

ollH [(AZUt WA AU HAlotoll sl €13

In a power transmission of flat belt drive the tension in tight side is 8000N
with angle of contact 180° . If the coefficient of friction is 0.28 than find the
tension in slack side.

$A2 U UlaR 2lodPalet Hi alefe ol Hi dRQUelol 8000N B. il
Aus ofl slaL 180 (3ofl &. 28l uriEl o1l 9J1lis(Coefficient of friction ) 0.28

8lal cdl A5 ollyy Hi dRllaoio 0.

OR
Give advantages and disadvantages of casting process.

$1R210L Uslaloll SIRAAEL Wl AR FRAEL W

Explain construction and working of single stage reciprocating air
compressor with figure.

ulsl €131 Roid Aol 2l dlsEot AR sLYUReAL At el

stdugdl uxestal,

Give the applications of pump.

Wiye{l Gualollcdl 2l

Draw the neat sketch of centrifugal pump.
ollH [yt WA AzIggolcd Wrusll sl €1

Classified air compressor according to capacity.
St 2R AR SR ad(ls0L 53

Enlist the lathe operations.

Aol ANUReto(l ALE] UL,
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